10+2
Economics (Theory)
(Hindi and English Versions)

Time allowed : 3 Hours Maximum Marks : 85

RIeeft TV 319H Treal | B TR < |
Candidates are required to give their answers in their own words as far as possible.

UAP YT b b IUP IEA feU T § |

Marks allotted to each question are indicated against it.

Terove g :
Special Instructions:-
(i) 3O ITR GRABT & & U6 & $HUR d15 3R AT 7Y gd H U 03 ARG 3[aed
ford |
You must write question paper series in the circle at the top left side of the title
page of your answer book.

(i) U & IR A THI S YT YA-UF TR TS T3 B, IR JRABT W I8
qof—3veT foreg=r arferard 2 |

While answering your questions, you must indicate on your answer book the
same question no. as appears in your question paper.

(i) STR—YRTHT & 1 H Wrefl 71 /T T BIS |

Do not leave blank page/pages in your answer book.
(iv) ¥ gz Ifard €

All questions are compulsory.
(v) UF U3 b FHT AT BT SR Tdh & H R T |

All parts of each question should be attempted at one place.

HOT-&
PART-A
Q.1(a) JALITH & STDH DI 87
Who is the father of Economics?
(b) a1 IE AEl 87

IR RS IRIE: | _ el ST

Isit correct that AR = IR

Q

(1)



Q.2

Q.3

Q.4

Q.5

Q.6

(c)

(d)

RITTY~ 9% 7 BIeil 27

What are substitute goods?

HAT @1 A Bl AR —————— 2 |

(=R (i) 9= (i) 9= (iv) &

Degrees of Price Elasticity of Demand--------- :

(i) Four (ii) Three (iii) Five (iv) Two

“Principles of Economics” A& fhard ————— = fordr |
(i) Adam Smith TgH ¥ (i) Robbins 3ffd=d

(iii) Dr.Marshall S1. 9Rf@ (iv) Peterson e

Who wrote the book ‘ Principles of Economics’.

(i) Adam Smith (ii) Robbins (iii) Dr. Marshall (iv) Peterson

ART & 98 &) AT=Idreil &) ARIT HIFU |

Explain the assumptions of the law of demand.

fte 37l 3R wHfte Jrefems # arx forn |

Write difference between Micro Economics and Macro Economics.

oof s fiTaT 98 freraTg fera |

Explain the features of the perfect competition market.

AT B Ufiathet IR YA & Ufidhe # o1 fora |
Distinguish between returns to a factor and returns to scale.

for=t qferepT b1 qRT AIRTT!
SUTET B ShIlgdl  IMAT I RA AN I AN
1 10 - -
2 9 - -
3 8 - -
4 7 - -
5 7 - -
Complete the following table :
Units of output Averagecost  Total cost Marginal cost
1 10 - -
2 9 - -

3 8 - -

(2)



Q.7

Q.8

Q.9

Q.10

Q.11

Q.12 (a)

4 7 - -
5 7 - -
fore arforesT 1 /i T &) &g S BT
pHaufdgere @) A0 T A ()
10 15
9 20

Calculate the elasticity of demand from the following table.

Per unit price () Quantity demanded (Kg)
10 15
9 20

gfcl T g B dTel dcdl &1 AT BIfoTy?

Explain the factors affecting supply.

AT H IR TAT AT H Hepad Bl AT AR BIFTY |

(4)

(5)

Explain extension of demand and contraction of demand with the help of

diagram.

ATE & ged UiIhe a1 Bl 8¢ $9P AN BIH & 9T BRI 87

(5)

Whatis meant by law of increasing returns to a factor? What are the causes of its

implementation?

AT # B dTel TR BT Fdeld DIAd U= FIT J91d IS, Ife gff ReR <7 |

(5)

What will be the impact on equilibrium price when demand changes, but supply

remains constant?
372141 /or

3N TFRAT I S BTl 87
How does an economic problem arise?

ST fhd Bed © ? I8 fhd= THR & 8l 2 |

What is meant by utility? Name the various concepts of utility.

qot-9
PART-B

(i) Tafe efema (i) afte sefeme
(iii) TAfe vd fte deieme (iv) S99 9 @IS 8 |

(3)

SNSRI &1 AT 79 &) B 91 IRaT 9 daord 87



(c)

Q.13

Q.14

Q.15

Q.16

Problem of unempolymentis related to--------- :

(i) Macro Economics (ii) Micro Economics

(iif) Micro and Macro Economics (iv) None of these.

AR BT Bfvad §b———————— 2 |

(i) < 9% 3ifw sfPsar (i) Rord §& <ifw sfosar

(iii) OTg A d&  (iv) I I 31T givea

Name of Central Bank of India ------------

(i) State Bank of India (i) Reserve Bank of India

(iif) Punjab National Bank (iv) Union Bank of India

———————— JITHR DT SATEXT B |

(i) FARSH B (i) IUTEH B

(i) AT dR  (iv) IMT PR

Example of Direct Tax is --------------- .

(i) EntertainmentTax (ii) Excise Tax

(iii) Sales Tax (iv) Income Tax

T SRS LN 3ATH TRAIHE, SSRE US HAl' A Y& (b feredl?

(i) <tarfa (i) e (i) e (iv) 3=

Who wrote the book “The General Theory of Employment, Interest and Money.
(i) Dr.Marshall (ii)J.M.Keynes (iii)) Robbins (iv) Hanson.

RTSERT 3T bl 7194 &1 foha=i1 fafert €7 (5)
(i) = (i)aR ()= (iv) Ti=

How many methods to measure the national income.

(i) Two (ii) Four (iii) Three (iv) Five (5)

T qAT T8 H FIT AR 57 (2)
Distinguish between Stock and Flow?

IfE MPS T 94 0.8 & I 0T &I Hed I DITOTT | (3)
If MPS= 0.8, find the value of multiplier.

Hegadi iR iferm axaail § 3faR T 3 | (3)

Differentiate between intermediate goods and final goods.

F=IfRId sTihel | TG IS TF AT BT TUFT BT | (3)

Calculate the Net National Income from the following data

4)



17

18

19

20

21

22

(i)
(ii)

7 IS R)

(Items) Crore )
Hdhdl B 3 (Gross Domestic Income) 45,000
Hegs™ (Depreciation) 3000
(iiii) Hegei T AT e AT
(Intermediate Goods and raw material) 5000
(iv) fa<= & g | 3y
(Net Factor Income from Abroad) 2000
IS B qoIC B RO ) ARAT BT | @3)

Explain the concept of Deficit budget.

QB! VAT B AARIT &) IRT BN | 39 TARIT I D3 97 S Aohdl 27 (4)
Explain the double counting problem. How it can be avoided?

T o T BT BT G0 BT | @)
Explain the main function of money.
By §& qer amRe §& # a7 3fav 27 (5)
What is difference between Central Bank and Commercial Bank.
gfrehel AT 29 DI ST BR & ST BT g BT | (5)
Explain the measures to correct the disequilibrium in the balance of payments.
T, faf 1 JoTTell 9T 27 S9! 430 BISAS AT & quie HIFY | (5)
Whatis barter system of exchange? Explainits drawbacks.

3{erar /or
UREE RIS T 256 SRS & 9T 3idR & | (21]
Differentiate between voluntary and involuntary unemployment 2

d9% &% R fewly forr | 1
Write a note on bank rate (2 E)

()



AR
T ()
TR R AR RIAE?
IR TeH R |
FAAETELR?
IR ;B
R TG0 FATEE?
: MU 9RU 9 Gegfd a8 8 S Uh—gay & oy UANT @1 Sl © |
IETERYT & foIU URAT DIl IR BIdbT Bl |

37X

SR ¢ HI B A B SR Ui F |
“Principles of Economics” Tt T ------ faiz?
IR I8 YD S ARiel o ford 2 |

HOT 3 FEA & AR S AT RITAT?

IR (1) SYHIGRN & w9 wrafAddrei | gRkad= w8l 891 a1fay |

(2) SUHTERTTSAT DI 3T ¥ BIg GRdc el 81 =Ry |

(3) &S gwgRll @1 AT H uRad T8l g1 a1y |

4) SUATERIT G D DA & e 9T 7 3iR 31fdres gRad=T a1 FHTa=T T2l

~—_— ~— ~—r

hdT |

AT XS A AR TS 7 e Tr?

IR afte i GLISACONIES]

(1) fte s H |fddd Wk ) (1) \EfRe el | |l areierawerr
anffe Adet BT tege fohar S g, P R TR AT e BT e
S U ST, U BH, Tob URAR [ERIESISIEE
DI 3P FTHRITT |

(2) e JNfRRA Udh AIITT HH 1@l | (2) FAME 7oy &7 Hael qryof
IENT H IeUTG AT BIAd & [RT 3feferqRer H del Jeura el
RESCIERES AT BT TR S IRT AR |

(3) e JNARH B T DI Jg IRV | (3) HARE 7fRH B eI &f Tg§
g for Afc TR ReR <& £ | gROT & fh aaficar ReR 3@ € |

(4) fte arefemes & IRl @ dei | | (4) gufe srivre o aRwnRet &
IISTR YOIl &1 T &1 98 Aed A H TR B ADT BT g8
BIATS | HEd BT & |

(6)



Q.4

Q.5

Qo AT T i (R i

IR gl AfrATar &1 g faeryarg feforiad § —

W1 AT fAeharall @ AfSre | : fhell I DI d2 dTet fAsharsil o \&aT ga-il Jfed
Bl © b fpedl Uab B gRT Yl | &7 ST aTell g A1 A1 BT IR BT el il IR
IEA B B JITd USdT 2 | 3T: BIg (el BH A% B DHIAd Pl THIfad T8l Hx Fahd |
I IR H Yaford Srad U 31T Scure 9=+ Uedl @ |

13l Pl IfSrh TRAT : Darsll &I AT Ul fdd Bl 8 | SHIAU Dlg Ueb shal Ul
fashar @ dRE IXG D BT BT FAIIT B & AT LY BT | IHBT AT § B ATelt
qfg AT HH BT TSR ART TR 9 &1 B JH1d ISl 2 |

Uep A1 qgQ : qoi Ui & veb 21 I8 @ fob Al fashar ves o1 €1 spreat derd
g | ST Y, 37, 707 A7 e # foedl o) U b iR 718l 8Ia |

U1 S : T 3R fAbamell Bl BAd ol RI—2 BRI BT 7, Dl bl §9 d1d &l
qut S 21T & o fi—2 faavar avg &l frd Sd RIa @ B |

HHI T TS Y2l g BIeAT : JoT URTar a1 araer # &l ST H o1 1 %4 yaer
PR Fhe| & IFAT R HH S SN DI BIS Fohdll & |

T 1971 : sheTaii SiR fasharali # il avg & IcTa, IHB! AT AR BIFd daeh
IS TSI el B1dT | U B 379+ ol o ol 2 |

A R IAHR S LR R Aot 7 3t T

: A & Ufdhd iR T & Ufihel H 75 orar AfotRad 8—

AR & Ufhel &1 I8 AT & o Al o1 srurd uRad=eie 2T 2 | 39 fauRid
P9 & Ufihel @) T8 AT © o ATl af eurd ReR e § |

A & Ufdhe S9 G AN BId 8 od ddel Ud A URad-TRie 8IdT 2 T dral
A ReR T8 2 | 39 fAud T4 &1 Ufihel S 99T AR 81T & o9 ScTa @
|4 Aree uRad-eiie 81 8 |

IEE & Ufdhel 59 =T UR MUTRT & b Scured & U9« § gRad+ w81 aidT | 39&
AT 9 & Ufdwet 51 AT R 3R g fb Scured @ 9 § uRada giar & |

99 & UfThel BT 1edd 39 AT WR STTRT 2 b A orgura ReR I&ar 2|
S [AURIA A1E fathel $99 AT UR SR B b Ao orurd # uRRad+ giar = |
AT BT IRl Dol STEdTeld AT 8 STdidh ATEH & Yfihdl 6T Ed= AT
JTBI B e H fohar Sar 2 |




Q.6

SISEE

Q.7

SRS

Ed = (=) =x=% = (+1])

Fer AR QA

3T B SHISTI AT AT A AN AT AN
1 10 10 10
2 9 18 8
3 8 24 6
4 7 28 4
5 7 35 7
FeR A & AR O S A
P=10
P=P
AP=P =9-10=-1
0=15,0,=20

AQ=0,-0=20-15=5

P_AQ 10 10

5
X—=—
O AP 15 +1 3

Ed =33

HIT B ATl SebTg 3 37D ¢ |

Q.8

[SESk¢

(1)

@)

et RO FA T TAL AT RTAT

gfct BT g R dTel I -

IR DI DA : THT a1 gfel T2 B H gcet arr BT § | foesdl avg @ rAd
I+ | Yl 9@l & qAT BIAd HH 819 3 T BH B 2 |

AR IRl e B : fohedT ag @l gfel Aaferd avegatt @l v ux Y iR el B |
IETERYT & forT A <NfSTT U B A 9ol & | AfS 9T9TR # BI%! & BIHd 98 STl
2, T9 BH A P TR AR BT HH HIAT 5o B o IR BT 3ferdT il HIAd W)
g AT P A AT 92 B forg IR BT |

WA Bl 3T : fhefl avg & IR gfdd wHf @ A R W R aRe 7 | wEt @l
HeT 1S B UR gfcl 31fereh il © | g9 fAudId BT &l H&aT BF 811 W Yfil BH
& ST & |

BH ® ST AT BH BT ST AT DI AfTHTH BIAT © Al Had AP HIAEd TR 8l

(8)



Q.9

arferes gfet ot SgeY | g9 fauRid afe wH &1 Seeg ! a1 e a1 ASHIR &
SAfHTH DHRAT & AT A DI IR 4T D Gfel T ST |

A H URIAT : IeTaT DI dbeiied H ulRad si- &l 9l g IR 991d gl © |
TG Theilh H GUR B & Bola®y Ui ghls ScaTad AN H HHI BT & | T2
< H gfg Bl 2 | 399 Werawy Yfid # gfg Bt 2 |

qiqs H GuIfdd A : 9fas & g% o1 HIFd 3§ 814 dlel YREd & FH1fdd o1 gfel i)
TG TS & | If AT § avg 7 BIHd gg+ dl FHTaT 8T a1 IerH gfd T ST 2 |
8 fAmRId afe 1wy # FH1Fd Ten o) FraHT &1 af ada | gfd 9¢ S 2 |
ARBRI AN : TRBR B B TAT & Faell AT BT I Bl ok Yfd W g1a
TedT 2 | I R H gfg B & Thelawy WG il &9 Bl © | 39S [AuRid
el & HRUT gft # gfg el 2 |

WO i R e e & S ATAT R

;| T fIRAR : 310 9T A X8+ WR, S1d [hadl g Bl BHIFd § B4l 8l & Hedwy

IGPBT AT 1fdh BT ST & AT S9 AT BT AR BT ST & | Od JMSIhIT Pl Hid
T 58 O P! JI0 TS HIAT 1 MSADIH & | 514 DIAd TSh < 1 81 ST & T 7T Bl

faRdR BTy =0T |17 5 3P &1 el © | v
. \
T BT IR j
- Q’ T
PHTT AT BT 71T Q‘«"@ 3 Vﬁ%
5 1 2T
]
1 5

o12345

Quantity

3 | A ART 956 & S fdwg A | A1 {95 B &1 3R ARBAT AT & [IKIR Bl gahe
FRATE |

AT BT Hfa : 3 a1 T I8+ IR 19 [h] I Bl BIAd 4 ghg B DI Holany
IADB! ANT B &1 I 2 T FIWT H B aTell Bl BT A BT Hegad dad & | o b
BT AT For=1 < i1l 81T © b 79 MMgwsh¥ o1 BIHd X 1 8 fob a1 5 SATgwshiy Bl
AT BT ST 2 | TS SMSABIH BT BT dedby 2 5 81 Wil © dl MSHDIE DI qiTT BT
AR BB AT ART 1 ATGADIH DI 8T Ol © | Y

A

T 1 < NS
. @
o ) AT B AT & 4T -
TH 3+ S
1 5 ~
21 B
©1 23 45 X

Quantity



Q.10

ART & fO}IR & FHM 81 71 & A bl A1 T & 7 a9 IR [T gIkT o
o S werar 2 | Fefd F=f Haoe @ e fimdia 2 | faar & Rafa & dees =
1 MR BIAT € SIdfh Hepa 1 R H I8 Hereld SR 1 3R BT ¢ |

HEA R TEA AT T L ? TR AT £ & FATRRUTE ?

3TN -

A & 9ed Uldhd a8 R & RaH fol IcuTe S9 F9Y 9¢d] &% UR 9¢dTl © oid
Rer a1e= o) fAf¥ad so1s & A1 uRad-eiiel IreF &1 1fSid ghrsal ol TIaRT fhar
ST & | 39 Refa # uRad=eiier e &1 HWid Scrg ggdT SirdT 8 | 3T wreal #,
IUTE B HHTT AT HH Il ST 2 |

989 & TRT H T ARIAl S YA H TS FEH & AU Bl 1T ST § a9 Uh
AT dF I AR BT AT ScTadhdT § g aril |

AEA & g¢d URThe Bl dTferds o fra gIRT e foar 5 Aahdr 2 |

59 B RIS AT 9 D1 gHIS AT EASASICIES RIGIESESIIES
EEUN
1 1 4 4
2 1 10 10—4=6
3 1 18 18—10=8
4 1 28 28—18=10
5 1 40 40—28=12

dTfeTesT 1 1A 81T @ foh 519 97 &1 ReR #1371 & 12T 819 & 31fdd Shrsdl Bl YA
BT ST J8T & A1 {of IS dedl g8 &% WX 98 <&l © | URac-Teiel | &1 dAHia
IS W 92 &2 |

Y Y

+ ® L 4 MP
/

Total
Product

Marginal

Product

& >y 5 2%
Units of Variable factors Units of Variable factors

A A 914 21T & {6 et ScuTe 9l 88 &% R 9¢ 38T & Sidih (I3 B ¥ =I1d 8idl 2
o uRacefiel M WHid ScaTe 9T ST 7 |

AEE & g Ufhel & HRUL: AR & 98d UThd & &0 BRI (AfeiRad g:—
ReR ATE BT gof YT : TG BT YRS (el H IeTas & ReR A1 oI e

(10)



BT 37cT TANT BT 2 | 9@ qof TN & foy aRad-elia |ee o 5 &1 31fdd
ghISAl B MATTHAT BT © | IAfIU TRMAD 3raven # gRad=eiier dmeq @ aifalRed
SHISAN BT YANT B D Bldwy Hol STa H gig Bl 7, 3T Teal § yRad-Teiel
e BT WHd Scure g+ olTdT & |

IR AT Bl BIAd # gl : IRITTL AT S 319 & AfAIRad shrgdidT
TINT HR < Ufehar SR #18 fAuTst= G9d 81 91T & | 396 Bolawyd S e &l
HIAT H gig BT & T AT IATGDHAT 9¢ STl © |

AREL H Sfd AH: 519 d6 ST & ReR A BT 37T YA 8IaT &, YRad-ie
AT @1 MR HTSAT BT AN B | ReR qr uRac3iier Al & FH=aadr
gfg BN © | S HoRd®Y Gl T H 9¢d] g5 &% 4 gfeg Bl @ |

HUH 2R A T R HGAT AT W FTOTE L7, T2 1 R EL
e 98] &1 gfcd Rer &l € A1 910 & 961 | DA 9gi] a7 A1 & $HH 84 | dIFd

&a 2l | 39 = R gy fexarar T 2 |

D,.
D . : S
P i
@ ]5;’ S
$ -
& E
P, \ -
D
S 4D,
D Q, Q Q Quantity
o3 % DD URM® ART a9 & TAT SS URMS Yfcd 9 © | OP Ao S 8
qAT OQ Her ART FAT Yfef 7 |

A SAISTQ A 79T H gl 819 & BRI ART I5h Q15 3R RIA® B D,D, BT ST
€ | 71T AT a6 D,D, Ufcl I9F SS BT E, favg IR PIe @1 7 | 31d: E, 7T AJer favg g
TAT 0Q, TS HAT AT AR OP, 7 ATeAT BIAd BT | 30 fIuRId AT # gfet ot
T # HHI B & BIROT AT I a7 3R RavAd HR R D,D, B ST | T AT ash
D,D, Yfci @h SS &I E, favg UR &Ic 81 € | 37h: E, 731 e fd=g 81T | 39 fawg wR
OP, T8 |{e™ &1d gRfl 9o 0Q, 718 Aqer A3 81T |

ety ¥ 89 I8 fepy el Fehd © b gfid @ Rer vgw W g {6l a%g @1
AT H gl BRI © AT Al PIFd Sl 8 ST © qAT Al Scara+ Wl 96 Sl & |
@ fAURId 579 ART § A Bl 2 A1 Ao Sd BF 8 STl 2 T Hdel Sared
Al ¥ B ST & | = g1 I8 Reyfe) woee 81 Sl 8 |

(11)



(i)

S

Por——"—~— Increase in Demand

Price P
P 4

D

Q Q Quantity

e & =a 21ar 2 & gfif 9% SS & ReR & R 7 & 91 & BRI DD AT
Ieh HUR a8 AR g B D,D, B AT & | I8 Yfdl Ish SS Pl E, fdvg IR HIC V&I & |
ST E, 7T Sqer 95 811 | §899 910 81T & & A3 Al diFd 9gax OP, 8l

SITGAY AT et AT 98 HR OQ, BT ST |
D
. . D S
qT 4 Al C e \UE
Price P, ¢ EZE
'
. D
S aal D,

Q Quantity

o & =i1d Bial © 1 gfcd 9 SS & ReR 8+ WR A & &4 81 & BRI HITT
I¢ DD 1<l 918 3R Ra\ds &< D,D, 81 7141 & | I8 Y[l dsh SS &l E, favg IR PIe <@l
2 | galorg fd=g E, 71 Aqa fd=g 81T | 39 /g IR A dIAd $H 8ldR OP, 8l
SRR oI AT A3 HH Bla) 0Q, Bl SR |

Or

3N FHET & I~ B & T BRI T -
AT MILIHATY : AR DI MTLIHATG JFAMFT BT € | PIg W AT (AT FT
ATILIHART DI YU ®9 F G T8l R Ahdl | B a1 & T A= B
JaegHAre oI fhedl MRad T9a 9 Ul w9 | At 81 [Ba1 ST FadT | aafadhd
T2 2 o 7= @) argegaan fRT—ufafed ggcd S € |
AT IT ol A : SMATIHATAT DI FIE B aTell B Ty T Harg Hifd
T gt I 2 | 71 IRl Bl geiv SAfelT el ST 2 difds 3! AT 3! gfct 4
31ferep BIefl & | 3ferid D> S
JHieTP TANT : U AT IT K] B debieuds YN B & | Ui i I1 AT Bl
I8 AT BRAT UGSl © b I8 U+ WA AT BT SUART DI Al ATILIDHAT BT AT
TR B oy I | SRR & v g ua AT axg 7 | g9t fafa= wraf 91 o,
JMSHDHH T H YA 3T ST AHAT & | 37 AT Iegall Bl 3 awg a1 &1 01

(12)



EERSISIRS
IIETd H AT DI THAT B IR DI = FARIT © | 59 o1 AT FHRT
HEI TS |
(ii) SYAIN : T g% T g8 e ST gRT gDl Bl Afte Biell 8, SuATa
HEAA 2 |
feegd & TR SUIINIAT fhdl UaTel &1 g8 &l & Sl JATIeIHATS Bl FC PRl
g
TR & STTAR, SUAINTCT a8 HYE & O PIS Afdd SUANT & BelwaRayd YT Bl
g
SUATATT &1 UHR Bl 81 © |
(1)  H SUARET
2) < Sy
(1) o ST : U ¥ &I AW~ ISl & ITENT F UT B4 arell JHia
ST & TS BT el ST BT ST ¢ |
(2) A IUAAIET fhHl I BT Ud AR $HIS BT SUANT R H FHof ST A

B aTell gfyg @1 WHid STARIar wEd € |
HOT-"
Q.13 (a) AT AL AT TR R AT ET AR HAAAE?
IR : AHE 3refe |

FTN AT P |

(d) ' T A ATh TATTAE,, T TS RAT AT TEAE (R at?
IR : SLUH.BT |

(€) T AT RTATIN AT e A S ?
IR : A |

Q.13 WEEHEIATTEHFATHATL?

IR TiPh CIFS

(1) WEH AT IS AGASAE | (1) TaTE &1 Hae TH Ay F Ear 2 |

(2) ¥Cidh Bl FHIDIC a8l Bidl (2) yaTE BT ARIDIS BIAT B |

(3) <, UATE BT YAIfAT HRAT T | (3) waTE, fd BT FATfad BRAT & |

(4) TR B {B ATURIMSAT B (4) JFTATT—TATT BT DBt UdTE SFALROTIAT
DI Tl Uge] Tel Bl | & ®F H JANT foar S 2 |

(13)



Q.14

Q.15

Q.16
16 SR

Q.17

AEMPS RTHE 0-8 B A UER TR A RCATL

K=—

MPS

_ P D0 105 s g5
0.8 38 8 8 4
10

Rt S AT TG Al S e &2

affers avgY A ey
3 Y SUTEH YR & qreR el 2 | | (1) 3 IRIY ST IR & 3R Bl 8
S ARG @ Hod | gfg T8l Bl Sl ¢ | 1 A H gieg 3T BN © |
3 IR AT ITHTERIT & T ST AT | (2) A TRY STED] gIRT AT AN Hedl Al D
frreT & oY S T IR BT € | w9 H A1 g: [T & forg wanT # @iy

S & |

SIRrH gRg3H T AT AT SYHIT AT e (3) HegaT IR BT IUTGDT GIRT Heal|
forar ST 2 | SOHIT T SITaT 2 |
RIS 3T BT 0T H S IRI3AT DI (4) TR AT BT ITUMET H g ARG3N BT
oA faar ST 2 | NIECERREDIRCISIES

FriaEd AFST R S TEE AT RO AT

TG TSI 37 = Hehel BNe] AI—HeIel A+l | g AT
= 45,000—3,000+2000

=% 44,000 PIIS

(e R T AL IR ATATRTAT

. IS 1 gl : I Pl qolc 98 Joic & IoTdH [l TRBR Bl JAFATT 3T IHD

ST &I | B BT 2 |

HTC BT JoIc = TARDHR DI AT 3R < FRBR BT AT I |

HIC & golc & A a2 st

AR Bl o Al BT RATA BT ST 1 & ol T & Foic DI Aeayul 9aR 7 | SHS
AR Hal BT Reafcr # AD BT R =l 811 & DR (20 BT TR agd =141 &l S
2 | ey RS ITTET BT TR JUT ISR R WR 814 dlel IcaTed I 984 w1l
1 SIT & | SRISHTRT Ueh TSR AHI 99 ST 2 | JTC &7 dolc &1 ke 9 AD & ®iR
DI HUR IoTAT & : (1) el ©F H IRBR BT 318 0 URT B | (2) 1UeT TR TR
AT DI 31fSeh g & forg URT B |
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Solved Model Question Paper

Economics +2
PART-A

Who is the father of Economics.
Adam Smith. T
Isitcorrectthat AR = 6 ?

TR
Itis correctthat AR = 6

What s substitute goods?

Those goods which can be used in place of each other to satisfy consumer’s
wants. Eg: Tea and Coffee.

Degrees of Price Elasticity of Demand-----

Five

Who wrote the book ‘Principles of Economics’?

Dr. Marshall.

Explain the assumptions of the law of demand.

The main assumptions of the law of demand are as follows:
There is no change in the income of the consumer.

Taste and preferences of the consumers remain constant.
Prices of the related goods do not change.

Write difference between Micro Economics and Macro Economics.
Micro Economics deals with economic issues at the level of an individual
whereas Macro Economics deals with the functioning of the economy as a
whole.

Micro Economics is concerned with determination of output and price for an
individual firm or industry where as Macro Economics is concerned with
determination of aggregate output and general price level in the economy as
awhole.

Explain the features of the perfect competition market.

Main features competition are as follows:

(1)



Q.5
Ans.

Q.6
Ans.

Q.7
Ans.7

Q.8
Ans.

(1)

(3)

The number of buyers and sellers is very large in this competition.

All sellers sell identical units of a given product and price of the product
throughout the market will be the same.

In perfect competition there is no legal restriction on the entry or exit of a firm
means a firm can enter and leave any industry at any time.

Distinguish between returns to a factor and returns to scale.

Following are the main differences between returns to a factor and returns to
scale:

Returns to scale are studied on the assumption that factor-ratio remains
constantwhereas in case of returns to a factor-ratio ought to change.
Returns to a factor apply when only one factor is variable and other factors
remain fixed whereas returns to scale apply when all factors of production
are variable.

Returns to scale is only a long period possibility whereas returns to a factor
are often studied with reference to short period.

Complete the following table”

Units of output | Averagecost | Total cost Marginal cost
1 10 10 -
2 9 18 8
3 8 24 6
4 7 28 4
5 7 35 7

Calculate the elasticity of demand from the following table.

GivenP=310 P,=%9, Q= 15Kg, Q, = 20Kg

A P=P-P=4-5=%-1
A Q=Q,-Q=20-15=5Kg

Ed=_2 . AQ
Q AP
_ 1005 333
15 -1
Ed=333  Ed=>1
Explain the factor affecting supply.

Following factors affecting the supply of a commodity : ------
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Ans.

Q.10

Ans.

(1)

(2)

(4)

Price of a commodity : There is a positive relation between price of a
commodity and its quantity supplied means higher the price higher the
quantity supplied and lower the price lower the quantity supplied.

Number of Firms : Increase in the number of firms implies increase in market
supply and decrease in the number of firms implies decrease in market
supply.

Change in Technology : Improvement in the technique of production reduces
cost of production. It means more of the commodity is supplied at its existing
price.

Goal of the Firm: If the goal of the firm is to maximise profit more quantity of
the commodity will be supplied only at a higher price whereas if the goal of
the firm is to maximise sales more will be supplied even at the same price.

Explain extension of demand and contraction of demand with the help
of diagram.

Extension of Demand : Other things being equal, when with a fall in own
price of the commodity, demand of a commaodity rises, it is called extension

of demand. v
D A
5 N
Price Quantity Demanded @ | 471
5 1 Ty 37
2T B
1 5 1 b
0] X

Contraction of Demand : Other things remaining the same, when with a rise
in own price of the commodity quantity demanded of a commodity

decreases, itis called contraction of demand. v

5 D\B
Price Quantity Demanded ,0@@ 44
1 5 el s
2-.
5 1 1 A
. ['D
O | 5' X

1
T
1 2 4

Quantity Demanded

C W=

What is meant by law of increasing returns to afactors?
What are the causes of its implementation?
Increasing returns to a factor refers to the situation in which total output
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Ans.

&)

(a)

tends to increase at the increasing rate when more of the variable factor is
combined with the fixed factor of production. Increasing returns to a factor
occurs because of the following factors :

Fuller utilisation of the fixed factor : In the initial stages fixed factor
remains under utilised . Itis fuller utilisation calls for greater application of the
variable factor.

Better coordination between the factors : So long as fixed factor remains
under-utilised, additional application of the variable factor tends to improve
the degree of coordination between the fixed and variable factors, resulted
total outputincreases at the increasing rate.

Increased Efficiency of the variable factor : Additional application of the
variable factor facilitates process based division of labour that raises the
efficiency of the factor, accordingly marginal productivity of the factor tends
torise.

What will be the impact on equilibrium price when demand changes,
but supply remains constant.

If the supply of the commodity remains constant, then the price increase with
increase in demand and price decrease with decrease in demand. It can be
shown with the help of a diagram..... D,.

(0] S
L
Q “EZ \
.
.
.
.

D Q, Q Q Quantity

This diagram shows that when supply curve remains constant, equilibrium
price increases with increase in demand of the commodity and equilibrium
quantity also increases. On the other hand when demand decreases
equilibrium price will decrease and equilibrium quantity will also decrease.

OR
How does an economic problem arise?
Economic problem is regarded as a problem of choice because resources
have alternative uses. Thus, the problem of choice arises because the wants
are unlimited and the means to satisfy them are scarce or limited. Problem of
choice is the main economic problem.
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(b) What is meant by utility? Name the various concept of utility.
Want satisfying capacity of a commodity is known as utility. In other words
utility is the ability of a good to satisfy a want. Utility has two concepts....

(1) Total utility : sum total of marginal utilities of all the units is called total utility.

(2) Marginal utility : marginal utility is the utility derived from an additional unit
of acommodity.

PART-B

Q.12 Problem of unemploymentis realted to--------- .
Ans. (a) Macro Economics

(b) Reserve Bank of India

(c) Income Tax

(d) J.M.Keynes

Q.13 Distinguish between Stock and Flow?

Ans. A stock is a quantity, measured at a particular point of time. Eg: wealth and
capital. Whereas a flow is a quantity, measured per unit of time period. Eg:
income and investment.

Q.14 If MPS = 0.8, find the value of multiplier.
Ans. GivenMPS=0.8
1
~ MPS
K= L =1.25
0.8
Q.15 Differentiate between intermediate goods and final goods.
Ans. Final Goods Intermediate Goods
1 These goods are outside the 1 These goods are within the boundary
boundary line of production line of production

2 Thesegoodsarereadytoreach 2 These goods are used asraw material
their final users for consumption. by the producers.

3 Thesegoodsareincludedinthe 3 These goodsare notincludedinthe
estimation of national income. estimation of nationalincome.

(5)



Q.16
Ans.

Q.17
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Ans.

Q.19
Ans.

(1)

(1)

Calculate the Net National income from the following data.

Net National Income = Gross domesticincome—Depreciation+Net factor
income from abroad.

Net National Income =% 45000 Cr.—% 3000 Cr. +% 2000 Cr.=% 44,000 Cr.

Explain the concept of Deficit budget.

Deficit budget is that budget in which government receipts are less than the
government expenditure or government expenditure is greater than
government receipts. Keynes recommends deficit budget as a key
instrument to remedy depression. Deficit budget raises the level of
Aggregate Demand in two ways.

(i) Directly by increasing the government expenditure.

(i) Indirectly by inducing greater expenditure by the people.

Explain the double counting problem. How it can be avoided?

The problem of double counting is the problem of estimating the value of
goods and services more than once. This is because while estimating
national income by using final output method, the value of only final goods
and services is taken into consideration. The counting of the value of
commodity more than once is called double counting. This leads to over
estimation of the value of goods and services produced.

To avoid double counting two methods are used :

Final Output Method : According to this method the value of final goods and
services only is included in national income.

Value Added Method : This method refers to the difference between value of
output and the value of intermediate consumption of each producing unitin
the country.

Explain the main function of money.

Following are the main functions of money :

Medium of Exchange : Medium of exchange is an important function of
money. It means that money acts as an intermediary that can be used in
exchange for goods and services in an exchange transaction. As medium of
exchange money has removed the main difficulty of batter system. The
medium of exchange function of money implies that money is generally
acceptable by all the people.

Unit of Value : Unit of value is the other main function of money. Money
serves as a measure of value in terms of unit of account. Unit of account

(6)



Q.20
Ans.

Q.21

Ans.

means that the value of each good or service is measured in the monetary
unit. Measurement of value was the main difficulty of batter system, so we
can say that money has removed this difficulty.

What is difference between Central Bank and Commercial bank.
Central bank of a country differs from the commercial banks in following
respects:

Public welfare is the main motive of the central bank while commercial banks
operate to earn profit.

Central bank has no direct dealing with the people as against the
commercial banks who deal directly with the people.

Central bank has the monopoly of note-issue but commercial banks can’t
issue notes.

Central bank controls the banking system of the country. Commercial banks
function under the control of the Central bank.

Central bank is the banker of the government. All banking activities of the
government are done by it. Commercial banks may function as
representatives of the central bank for government works.

Central bank is a state owned institution where commercial banks may be
private or state owned.

Explain the measures to correct the disequilibrium in the balance of
payments.

Following are the measures to correct disequilibrium in the balance of
payment:

Discouraging Imports : In order to correct disequilibrium in balance of
payments, imports should be reduced by imposing Import Duties, Import
Quotas and Encouraging Import Substitution.

Export Promotion : The best method to correct disequilibrium in the
balance of payments is to increase the volume of exports. All duties or
restrictions on exports should be withdrawn and export industries be given
special concessions and facilities.

Encouragement to Foreign Investment : Investment of foreign capital in
the country constitutes a credit item and so has a favourable effect on the
balance of payments position. Foreign investment can be attracted by
offering different kinds of incentives and concessions.

Devaluation : Devaluation is that monetary measure under which

(7)



Q.22
Ans.

(1)

(4)

(1)

(I

government of a country lowers the value of its currency in terms of foreign
currencies. As a result of it, imports become dearer and exports become
cheaper. Thus, disequilibrium in balance of payment can be corrected.

What s barter system of exchange. Explain its drawbacks.
Barter system of exchange is the system in which commodities are
exchanged for commodities. This is also called commodity for commodity
exchange economy or ‘C-C’ economy. But following are the principal
drawback of the barter system of exchange:
Difficulty of Double Coincidence of wants: Double coincidence of wants
is a prior requirement of the barter system of exchange. But it is a rare
occurrence.
Lack of Common Unit of Value : Barter system lacks common unit of value.
Inits absence, itis very difficult to express the value of a thing.
Difficulty of Store of Wealth : Under barter system wealth will be stored in
the forms of goods or animals. But these goods can’t be stored for a long
time because they are perishable and require large space too.
Difficulty of Transfer of Value : In barter system, transfer of value of goods
from one place to the other is very difficult. Therefore it won’t be possible to
transfer value.

Or
Differentiate between Voluntary and involuntary unemployment.
Voluntary Unemployment refers to the situation when a person is
unemployed because he is not willing to work at the existing wage rate, even
when work is available. Whereas involuntary unemployment is a compulsion
to remain unemployed because jobs are not available in the market,
although persons are willing to work at the prevailing rate of wages.
Write a note on bank rate.
Bank rate is the minimum rate at which the central bank of a country is
prepared to give credit to the commercial banks. The increase in bank rate
increases the rate of interest and credit becomes dear. On the other hand
decrease in the bank rate lowers the rate of interest and credit becomes
cheap. The central bank adopts the dear money policy during inflation and
cheap money policy during deflation.
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